Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732

HP-4 Recessed with Regressed Lens Visible Flange Starter/Independent

F| NEUTE Installation Instructions

0.88" Feed

Mounting Hole 1/4"-20 All-Thread

Mounting Hole

<

"A"+1/

5 1/4"-20 All-Thread
(Provided by Others) 6.00"

Mounting Hole

0.75"—> |«—

6.00"

[«——Nominal Length

—— A+025" —

Add 0.25" to body/row length (A) +/- 1/16" to simplify installation. Fixture Remove bottom lens by wedging a screwdriver between the lens and the body. Carefully pivot screwdriver to Refer to threads and feed hole locations above before connecting

installed next to supporting block (optional). unsnap the lens from the body. Set lens aside to prevent it from getting dirty or damaged during installation. fixture wires.
Standard Installation Alternate Option From Top 1420 Al Thread
Step 4a Cond
Fixture
#8-18 x 1/4" \ 1/4"-20 Nut
Screw (provided) to Secure X« sig
the Conduit Plate
Jam Nut Support © ©
e Blocking
Conduit Plate g
- #8-18 x 1/4"
Feed Hole Screw (provided) \ Drywall Ceiling
= / & \
A ’ 77
o Qn o o n? o o o E.D o k/lﬁtl;ﬁroead
o o o o u\‘ﬁ o a o o o (Provided by Others)
‘ \/'_l Conduit\
Remove jam nut from conduit then insert wires and connector through feed hole.  Remove #8-18 x 1/4" screw (provided) to open trap door and then insert fixture into ceiling. Align Secure fixture to structure using 1/4"-20 All-Thread.

fixture within rough opening in drywall and 1/4"-20 All-Thread.

Finelite, Inc. » 30500 Whipple Road « Union City, CA 94587-1530 « 510 /441-1100 « Fax: 510 /441-1510 « www.finelite.com | Mo 1 o oo O e e Lrectician.

GIL/O} 18186 W04 "QIAYISIY SLHOIY TV "ONI ‘ILITINI GH0C ©



Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732

HP-4 Recessed with Regressed Lens Visible Flange Starter/Independent
F| N EL|TE nstallation Instructions

crew
(provided by others) Support Blocking

NN

Jam Nut Connector

1/4"-20 All-Thread =
(Provided by Others)
é) = @”x‘ | Support
¢ | ﬂ‘d) : Blocking © ©

(@X Screw

(provided by others)

\“\ 1/4" Washer
Drywall Ceiling
\ 1/4"-20 Nut N\

/ d | L ]

\\ //
\\ //
Install jam nut onto connector. Install 1/4'-20 nut and 1/4" washer onto 1/4"-20 All-Thread (provided by others) ALTERNATE OPTION: Install screw (provided by others) through mounting hole into proper backing (provided by others).

Step 8

#8-18 x 174"
Screw (provided)

Make wire connections and secure trap door with #8-18 x 1/4" screw (provided). On opposite end of fixture, fold trap door down. Install 1/4"-20 nut and 1/4" washer Reinstall lens and turn power on.
onto 1/4"-20 All-Thread or use ALTERNATE OPTION. Replace trap door and fasten
with #8-18 x 1/4" screws (provided).

Finelite, Inc. » 30500 Whipple Road « Union City, CA 94587-1530 « 510 /441-1100 « Fax: 510 /441-1510 « www.finelite.com | Mo 1 o oo O e e Lrectician.

GIL/O} 18186 W04 "QIAYISIY SLHOIY TV "ONI ‘ILITINI GH0C ©



FL_HP4_RG_Visible_Flange_Joiner_Inin.gxp_HP4 Recessed Visible Flange Joiner 10/30/15 2:20 PM Page 1 $

Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732

HP-4 Recessed with Regressed Lens Visible Flange Joiner

F| N EL|TE Installation Instructions

0.88" Feed

Mounting Hole 1/4"-20 All-Thread

Mounting Hole

\ 1/4"-20 All-Thread
Mounting Hole 6.00"

L 0.75"—> |le—
6.00" J«———+——>
Lens
—— A+ 0.25" — [«—————————Nominal Length

Turn off the power to the fixture’s circuit. Provide rough opening according  Remove bottom lens by wedging a screwdriver between the lens and the body. Carefully pivot screwdriver to  Refer to threads and feed hole locations above before connecting
to the measurements indicated. Fixture needs to be installed next to unsnap the lens from the body. Set lens aside to prevent it from getting dirty or damaged during installation.  fixture wires.
support blocking.

Pictured Behind Flex

1/4"-20 All-Thread
(Provided by Others)

Standard Installation Alternate Option From Top

Conduit

Step 4a

Fixture

#8-18 x 1/4"

Screw (provided)
to Secure the Conduit Plate S
Jam Nut e

1/4"-20 Nut

Support © ©
\\’ Blocking
#8-18 x 1/4" X
Screw (provided
/ Drywall Ceiling
o T r

O @ 7/ €7
a DD Dy
1/4"-20
All-Thread
(Provided by Othérs)
: /
Conduit /

o o
o o o
o ! o o o
)

Remove jam nut from conduit then insert wires and connector through feed hole. ~ Remove #8-18 x 1/4" screw (provided) to open trap door and then insert fixture into ceiling. Align Secure fixture to structure using 1/4"-20 All-Thread.
starter fixture within rough opening in drywall and 1/4"-20 All-Thread.

o

Finelite, Inc. » 30500 Whipple Road * Union City, CA 94587-1530 510/ 441-1100 * Fax: 510/ 441-1510  www.finelite.com | Note: All power connections to be installed to

local/national codes by a Certified Electrician.

—®—

GL/0L 28186 W04 "@3AYISIH SLHOHIY TV "ONI ‘ILITINIH GL0C @



FL_HP4_RG_Visible_Flange_Joiner_Inin.gxp_HP4 Recessed Visible Flange Joiner 10/30/15 2:20 PM Page 2 $

Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732

HP-4 Recessed with Regressed Lens Visible Flange Joiner

F| N EL|TE nstallation Instructions

Screw
(provided by others

) Support Blocking
Support

Blocking o o

Jam Nut Connector

/ 1/4"-20 All-Thread
(Provided by Others) [
? 1/2" |

¥ S}arter

(@ /

1/4* Washer Screw Drywall Ceiling

\ @r\ (provided by others) \

1/4"-20 Nut V A r J
AN /

Install jam nut onto connector. Install 1/4"-20 nut and 1/4" washer onto 1/4'-20 All-Thread (provide by others) ALTERNATE OPTION: Install screw (provided by others) through mounting hole into proper backing (provided by others).

Step 8

Joiner/Ender

Startel /Joiner Plate

> < ; \
=) @
I é R T
o o o o o EI(DEI - @D o 5 @
um—N o (=} o
o EE o =N
.
e W — ..
#8-18 x 1/4" Plug Together Wiring

Screw (provided)

Make wire connections and secure trap door with #8-18 x 1/4" screw (provided). On opposite end of fixture, fold trap door down. Install 1/4'-20 nut and 1/4" washer Connect plug together wiring. Slide joiner fixture against starter fixture. Be careful not
onto 1/4"-20 All-Thread or use ALTERNATE OPTION. Replace trap door and fasten to damage any wiring.
with #8-18 x 1/4" screws (provided).

Finelite, Inc. = 30500 Whipple Road « Union City, CA 94587-1530 « 510 /441-1100 « Fax: 510 /441-1510 « www.finelite.com | Mot 1 o oot o O B e tiectician.

—®—

GL/0L 28186 W04 "@3AYISIH SLHOHIY TV "ONI ‘ILITINIH GL0C @



FL_HP4_RG_Visible_Flange_Joiner_Inin.gxp_HP4 Recessed Visible Flange Joiner 10/30/15 2:20 PM Page 3 $

Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732

HP-4 Recessed with Regressed Lens Visible Flange Joiner

F| N EL|TE Installation Instructions

s, INIPORTANT STEP

r
#8-18 x 1/2° Combo End Brack Joiner/Ender
/ Hex Screw ( prowded) / nd Brackets \

1/4"-20 All-Thread ~ 1/4" Washer 1/47-20 Nut

' \ i 7
L / %
v \

On opposite end of fixture, fold trap door down. Install 1/4" washer and 1/4"-20 nut onto 1/4"-20 All-Thread or use ALTERNATE
OPTION (see step 5A). Replace trap door and fasten with #8-18 x 1/4" screws (provided).

Starter

Reinstall lens and turn power on.

Finelite, Inc. = 30500 Whipple Road « Union City, CA 94587-1530 « 510 /441-1100 « Fax: 510 /441-1510 « www.finelite.com | Mot 1 o oot o O B e tiectician.

—®—

GL/0L 28186 W04 "@3AYISIH SLHOHIY TV "ONI ‘ILITINIH GL0C @



	FL_HP4_RG_Visible_Flange_Starter_InIn
	FL_HP4_RG_Visible_Flange_Joiner_InIn

